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B.E. Part-III 5" Semester (ETC) Final Examination, Dec. 2012
Subject: Microprocessor (ET-503)

Full marks: 70 Time: 3hrs

Answer Question no. 1 and any five from rest taking at least 2 from each group.
Answer should be brief and to the point.
Unnecessary lengthy answers may result in loss of marks.

Fill up the blanks with appropriate word assuming the uP is 8085.
i} Instruction ADI, 5FH Consists of M/c cycles and T-states.

ii) Maximum numbers of address lines can be used to select memory based 1/0
ports.

i) _____ nos of address bits are necessary to address A 256x8bit memory.

iv) RST 6.5 pin is a interrupt.

v) Opcode Fetch M/c. cycle has maximum ____ T-state.

vi) To interrupt the uP through INTR interrupt signal should remain high for _____ T-state.

vii) _ pin goes to high state during T1 state of each M/c cycle.

viii)Opcode Fetchisaspecial ____ _ ~  cycleanddatamovesto____ _  during
Opcode Fetch. : (10)

GROUP- |

Draw the transition state diagram of 8085 with suitable explanation. (12)

Design a memory system of 4KByte EPROM and one 16KByte RAM for an 8085 puP.
Each RAM memory chip contains 4Kbyte memory. Draw the memory map of the system.
Assume necessary control & data pins are available on the memory chips. (12)

a) What is addressing mode in microprocessors?
| b) With suitable examples, explain the addressing modes of 8085 uP. (2+10)

Interface 4 Nos. 7 segment LEDs using PPI 8255 to a 8085 microprocessor to display
decimal numbers up to 99. Draw the circuit diagram and write assembly language
programme for implementation. Assumption (if any) must be mentioned. (12)

Draw timing diagrams for the following instruction with appropriate control and status
signal. Explain in brief. CALL 2000 (12)
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GROUP -1l

a) Explain what happens when INTR in 8085 pP goes high.

b) A user wants to implement a hardwired interrupt through RSTS. Draw the circuit
diagram and explain steps involved in it. (4+8)

a) Write an 8085 assembly language program to: multiply two BCD numbers and store
the result in the memory locations. Draw flow chart for the program.

b) Write an 8085 assembly language program to subtract two BCD numbers in registers
and result to be placed in HL register pair. - (6+6)

Sketch the interface of any 8-bit A/D Converter having necessary 4P compatible control
signals to an 8085 pP. Write an assembly language program to read and store the 100
data bytes in the microcomputer system. Assumption if any must be mentioned.  (6+6)

What is key debouncing? How it can be eliminated? How a 4x4 matrix keyboard can be
interfaced using interrupt to give input to a yP based system? (2+2+8)
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